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Economic Business Cycle Analysis
Activity Description

In this activity, students will work in small groups to analyze the economic indicators of 6 fictional counties. Students will evaluate economic data about the countries to determine which phase of the business cycle each country is in, and later, will make recommendations on fiscal and monetary policy measures to help each country’s economy. 
Essential Question

· How can economic indicators be used to evaluate which phase of the business cycles an economy is in?
· How can monetary and fiscal policy be used to improve an economy?
Concepts

Economic Indicators
Unemployment

Inflation

Business Cycles

Fiscal Policy

Monetary Policy

Georgia Standards of Excellence

 SSEMA1 Illustrate the means by which economic activity is measured. 

a. Identify and describe the macroeconomic goals of steady economic growth, stable prices, and full employment. 

c. Define unemployment rate, Consumer Price Index (CPI), inflation, real GDP, aggregate supply and aggregate demand and explain how each is used to evaluate the macroeconomic goals from SSEMA1a. 

e. Identify seasonal, structural, cyclical, and frictional unemployment. 

f. Define the stages of the business cycle, including: peak, contraction, trough, recovery/expansion as well as recession and depression. 

SSEMA2 Explain the role and functions of the Federal Reserve System. 

c. Define monetary policy. 

d. Define the tools of monetary policy including reserve requirement, discount rate, open market operations, and interest on reserves. 

e. Describe how the Federal Reserve uses the tools of monetary policy to promote its dual mandate of price stability and full employment, and how those affect economic growth. 

SSEMA3 Explain how the government uses fiscal policy to promote price stability, full employment, and economic growth. 

a. Define fiscal policy. 

b. Explain the effect on the economy of the government’s taxing and spending decisions in promoting price stability, full employment, and economic growth. 
Procedures

1) This activity is designed in two phases. The first phase is appropriate to assign after teaching all aspects of economic measurement and the business cycle. The second phase should be given after teaching monetary and fiscal policy.

2) Place students in groups of 2-3. Distribute one copy of Activity 1: Fictional Country Data to each student. 

3) Tell students they are going to answer questions 1 – 6 for ALL 6 countries. Explain that while some of the data is comical and exaggerated, you are looking for their application skills and analysis of economic indicators.  

4)  To determine whether information is “good or bad” they should use the helpful data section. For questions requiring an explanation, make sure students understand you are looking for economic reasoning.

5) Give students adequate time to answer the questions. This will vary depending on the level of the class. To assess students, either collect their written answers OR have a “mini-conference” with each group where you verbally go through the answers to one or two countries. Use the ANSWER KEY document to help you with your discussions.  

6) Collect student work and save it in a safe place (or allow students to keep it desired). After you have taught monetary and fiscal policy, return papers to students and allow them to answer the questions in Phase II.

Alternate Teaching Option:

1) If teaching this alternative method, this lesson can be taught all at once, but only after students have learned about business cycles AND monetary and fiscal policy.

2) Distribute one copy of Activity 1: Fictional Country Data to each student.
3) Divide students into 6 groups. Assign each group one of the fictional countries from Activity 1:
a. Group 1- Atlantis

b. Group 2 – Xanadu

c. Group 3 – McIntosh Meadows

d. Group 4- Cannonland

e. Group 5- Econoland

f. Group 6 - Neverland

4) Have each group work together for complete the phase 1 questions for their country. Direct students to display their answers on a large post-it note, posterboard, or butcher paper. 
5) Have groups come up one at a time to present their answers to phase 1 identifying which phase of the business cycle each country is in. After the group has presented the phase 1 answers, work together as a class to answer questions 7 & 8 (phase 2). Repeat this process for each group, referring to the answer key to facilitate discussion for the phase 2 questions.  

Activity 1: Fictional Country Data

ATLANTIS
Population last year:  9,980
Population this year:  10,020

Labor Force:   3,000

Unemployed:  400
CPI Last year:  100

CPI This Year:  101
Real GDP Last Year:  $4,000,000

Real GDP This Year:  $4,100,000

Atlantis is a small, very poor, farming country.  Recently they have had two straight seasons of poor crop production.  Aggregate demand is low and saving is down.  

XANADU

Population last year:  9,240,000

Population this year:  12,000,000

Labor Force:  6,500,000

Unemployed:  200,000
CPI Last year:  100

CPI This Year:  120

Real GDP last year:  $500billion
Real GDP this year:  $609billion

Xanadu is a large city that survives off of a growing communications industry.  Over half of the people in the city work in communications in some way.  This rapid growth has caused many problems including hyperinflation and some shortages of housing, cars, and other goods.

McINTOSH MEADOWS
Population last year:  2300

Population this year:  2000
Labor Force:  1100
Unemployed:  220
CPI Last year:  90
CPI This Year:  80
Real GDP last year:  $5,000,000
Real GDP this year:  $3,000,000

McIntosh Meadows is a very small community that used to survive off of building and maintaining parks and recreational activities.  Now that a new national park has been built in a nearby town, their services are not needed as much.

CANNONLAND

Population last year:  480,650
Population this year:  500,500
Labor Force:  400,000

Unemployed:  200,000

CPI Last year:  120
CPI This Year:  240
Real GDP last year:  $60billion
Real GDP this year:  $22billion

Cannonland, typically a successful community, has recently experienced a major hurricane that wiped out many natural resources. In the last year there has been hyperinflation and many layoffs.  Businesses say more are coming.

ECONOLAND

Population last year:  5,493,333
Population this year:  6,000,000

Labor Force:  3,750,000

Unemployed:  50,800
CPI Last year:  100

CPI This Year:  106

Real GDP last year:  $412billion
Real GDP this year:  $450billion

Econoland produces the best economists in the world.  They work hard to ensure that almost all people have a job.  The poverty rate is extremely low because they have enacted policies to diminish the income gap.

NEVERLAND
Population last year:  30,000

Population this year:  60,000

Labor Force:  39,000

Unemployed:  7,000

CPI Last year:  105
CPI This Year:  85

Real GDP last year:  $30,000,000

Real GDP this year:  $160,000,000


Neverland has recently experienced a huge boom in technology and a discovery of many new natural resources, including a supply of oil.  
DIRECTIONS:  Read each economy’s description carefully.  After you do, answer the following FOR EACH ECONOMY!!!!

PHASE I

1.  What is the unemployment rate?  Is this good or bad?
2.  What is the inflation rate?  Is this good or bad?
3.  Has this country had significant economic growth?  How do you know?

4.  What type (or types) of unemployment does this economy MOST LIKELY have?  Explain your answer.
5.  In what part of the business cycle does this economy appear to be?  Explain your answer.

6.  According to GDP per capita, would you say the standard of living in this economy has increased, decreased or remained the same?  Why?

PHASE II

7.  For each economy, identify a specific fiscal policy you feel would benefit this economy and explain why.

8.  For each economy, identify a specific monetary policy you feel would benefit this economy and explain why.

HELPFUL DATA (relative to the United States):

Desirable Unemployment Rate (Full Employment) is between 4 - 6%
Desirable Inflation Rate is between 2 – 4%
Desirable Growth Rate is between  3 – 5%
US GDP Per Capita is about $53,000
FORMULAS:

Unemployment Rate:  (#UNEMPLOYED / #LABOR FORCE) X 100

Inflation Rate:  ((CPI This year – CPI Last year) / CPI Last year) X 100

Growth Rate:  (RGDP this year – RGDP last year) / RGDP last year X 100
Real GDP Per Capita:  Real GDP/population (do this for this year and last)
ANSWER KEY

Atlantis:

1. The unemployment rate is 13%. This is bad, as desirable rate is much lower, between 4 – 6%. 
2. The inflation rate is 1%. This is slightly under the desirable inflation rate range of 2 – 4%.
3.  No.  GDP growth rate is tiny, AD is low, poor crop production is bad for agricultural economies.

4.  DEFINITELY cyclical.  Possibly structural depending on what other jobs are available.

5.  Clearly a trough.  2 straight seasons and there’s no movement up or down in GDP.

6. Real GDP per capita is extremely low overall (indicating a low standard of living). It has changed from 400.80 to 409.18. This is a very insignificant change. 

7. Answers will vary. Students should recommend expansionary fiscal policy measures such as decreasing taxes or increasing government spending.  
8. Answers will vary. Students should recommend expansionary monetary policy measures such as decreasing interest on reserves, decreasing the reserve requirement, buying bonds, and decreasing the discount rate. 
Xanadu: 
1. The unemployment rate is 3%. This is very low unemployment. 
2. The inflation rate is 20%. This is a very high rate of inflation. 
3.  Yes.  GDP growth rate is huge (21.8%).  Also, paragraph indicates rapid growth.

4.  Structural – people without communication skills.  Frictional – people just moving to town.

5.  Peaking – this is not sustainable and there’s too much inflation.

6. GDP per capita is decreasing, as is the standard of living. 
7. Answers will vary. Students should recommend contractionary fiscal policy measures such as increasing taxes or decreasing government spending.  

8. Answers will vary. Students should recommend contractionary monetary policy measures such as increasing interest on reserves, increasing the reserve requirement, selling bonds, and increasing the discount rate
McIntosh Meadows:
1. The unemployment rate is 20%. This is bad. 
2. The inflation rate is -11%. The economy is experiencing deflation. 
3.  No.  GDP is negative.

4.  Structural, lack of skills.  Cyclical, bad economy.

5.  Severe contraction, may be troughing.

6. GDP per capita is decreasing, as is the standard of living. 
7. Answers will vary. Students should recommend expansionary fiscal policy measures such as decreasing taxes or increasing government spending.  

8. Answers will vary. Students should recommend expansionary monetary policy measures such as decreasing interest on reserves, decreasing the reserve requirement, buying bonds, and decreasing the discount rate. 

Cannonland:
1. The unemployment rate is 50%. This is very bad. 

2. The inflation rate is 100%. This is extremely high. 
3.  No.  GDP is negative.

4.  Cyclical, bad weather effects.  Possibly structural if those jobs aren’t coming back.

5.  DEFINITE contraction.  High inflation is result of stagflation.

6. There is a huge drop in GDP per capita. This indicates a significant decrease in the standard of living.  
7. & 8. There are no easy solutions to stagflation. Monetary policy can generally try to reduce inflation (higher interest rates) or increase economic growth (cut interest rates). Monetary policy cannot solve both inflation and recession at the same time. Essentially there will always be a trade-off with stagflation- if an economy opts to reduce inflation, it will be at the expense of increasing unemployment and lowering economic growth.  One possible solution is supply-side policies to increase productivity (ex. privatization and deregulation), which can enable higher growth without inflation, but may take a long time.
Econoland:
1. The unemployment rate is extremely low (1.35%)
2. The inflation rate is 6%. This is slightly above the target range. 
3.  Yes, high GDP.  Economy “sounds” good.

4.  Frictional.  Everything else is good, unemployment is very low.
5.  Extended peak or growth period.

6. GDP per capita is high and about the same year to year. This indicates a high and stable standard of living. 
7. Answers will vary. Minor contractionary fiscal policy could be used here to improve budget deficits and prevent the economy from possibly overheating in the future. Doing nothing is also an acceptable answer.
8. Answers will vary. Minor contractionary monetary policy could be used preventively here, but to a much-lessened degree when compared with Xanadu.  Doing nothing is also an acceptable answer.
Neverland:
1. Unemployment is high (17.9%)
2. The inflation rate is -19%. The economy is experiencing deflation. 
3.  Yes.  Ridiculous GDP numbers and new tech = growth.

4.  Structural.  People don’t have the skills for this new industry yet.

5.  Beginnings of a recovery.  Unem. is high because of lack of skills.
6. GDP per capita is lower than more developed countries like Econoland, however it is increasing, which could indicate an improvement in the standard of living (as seen with economic recovery).  
7. & 8. Answers will vary. There is no specific correct answer. Instead, listen for students to justify their reasoning with economic rationale that makes sense. 
